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5.4-2

= A copper wire having diameter d=3mm is bent into a circle
and held with the ends just touching (see figure). If the
maximum permissible strain in the copper is €,,,=0.0024 ,
what is the shortest length L of wire that can be used?

d = diameter

L = length



5.4-6

= A bar of rectangular cross section is loaded and supported
as shown in the figure. The distance between supports is
L=1.5m and the height of the bar is h=120mm. The
deflection at the midpoint is measured as 3.0 mm. What is

the maximum normal strain € at the top and bottom of the
bar?




i Example 12-5 (p.893)

= Determine the moment of
Inertia Ic with respect to the
horizontal axis C-C through
the centroid C.
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i 12.3-3 & 12.5-3

= Calculate the distance to the centroid C of the channel
section shown in the figure if =150 mm, 6=25 mm, and
¢=50 mm.
Calculate the moment of inertia I, with respect to an axis
through the centroid C and parallel to the x axis.
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$1237&1257

= Determine the coordinates X and y of the centroid C of
the L-shaped area shown in the figure.
Calculate the centroidal moments of inertia /.
and /. with respect to axes through the centr0|d
Cand paraIIeI to the xand y axes, respectively,
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